BEREREMSRE=SJJVHAEEHHLAEEE 130 ER
($M3FE9A21A~10A128EH)

RF A SEEI et FAAR (BR5THRIE)
EERKEREXRE (RFHID)

BESS | ZHRERATME (L Sv/h)
. NE S
No. |  hETH K4 NEERH BE | soom | (hs-aBOFiE) Jre.
fm 5E %12
FEER REMER
50cm 0.06 0.07
601 B EEFAE |BAREeEHAR 9A30H [E 3RS
1m 0.06 0.07
50cm 0.11 0.11
602 B EBFAE |LoSHhDOHFEAR—YLE | 95298 2 BMILE
im 0.11 0.11
50cm 0.12 0.12
603 =P EFAR |REKSESHLE 10818 CHEIREG
1m 0.12 0.11
50cm 0.09 0.10 . N
604 B EEFAE | KEREEHLE 9A30H ZEHMYTSIUR
1m 0.09 0.10
50cm 0.09 0.09 . .
605 B EHNE |REROEEESANE 10A1H TR
1m 0.09 0.09
50cm 0.10 0.10
606 =P #HEAE |RALRELAE 9A30H
1m 0.10 0.10
50cm 0.09 0.10
607 B #HEAR |ME2E 9A30H
1m 0.09 0.09
50cm 0.11 0.11
608 =FCN #HEAR |MELaR 9H29H
1m 0.12 0.11
50cm 0.11 0.11
609 B HERAR |SLdaBE 9H29H
im 0.11 0.11
50cm 0.12 0.13
610 =FCN HERAR |SWAELE 9H29H
1m 0.12 0.13
50cm 0.10 0.10
611 B #HEAR |—EELE 9H29H
1m 0.10 0.09
50cm 0.06 0.06
612 B EBAR |BFLAR 10818
1m 0.06 0.05
50cm 0.13 0.15
613 B HBEAR |WWLUaE 9A30H
1m 0.13 0.15
50cm 0.14 0.14
614 B RAEBRLE |mHAE 9A30H CHEIRS
1m 0.13 0.13
50cm 0.14 0.14
615 B 2B BELER 9A30H
1m 0.13 0.14
50cm 0.10 0.10
616 FaIERAT #HEAR |EmEaE 9H29H
1m 0.10 0.10
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RERRERFHFE=SITRAE @ HAESEE 130 HR

($M3FE9A21A~10A128EH)

RF A SEEI et FAAR (BR5THRIE)
EERKEREXRE (RFHID)

BESS | ZHRERAEE (1 Sv/h)
. NE S
No. |  hETH K4 NEEZH BE | soom | (hs-aBOFiE) Jre.
m S0 %120
FEER RERR
50cm 0.09 0.10
617 icprEba) #HERAR |FUELE 9H28H
1m 0.09 0.09
50cm 0.10 0.10
618 FaIERAT #HEAR |ELEaR 9A28H
1m 0.10 0.10
50cm 0.10 0.10
619 AT HEAR |ERERAE 9H29H
1m 0.10 0.10
50cm 0.09 0.09
620 ik a) #HERAR |352E 9A28H
1m 0.09 0.09
50cm 0.08 0.09
621 FEIERFT EBARE | KEFAZTAILS 9H28H EE5
1m 0.08 0.09
50cm 0.11 0.11
622 icprEba) ERAR | EHRAE 9H28H
1m 0.10 0.11
50cm 0.10 0.09
623 SRIGH BELAR |ZoEnE 9H28H
1m 0.10 0.09
50cm 0.08 0.08
624 e WELE |EEZ2EGMCE 9A28R EZaAAVNES
1m 0.07 0.08
50cm 0.09 0.10
625 E 4 #HELAR |AMRBRELE 9827H
1m 0.09 0.09
50cm 0.09 0.10
626 &K WRET #HERAR |/MaoE 9R27H
1m 0.09 0.10
50cm 0.11 0.11
627 Evdi) #HEAR |OFEDLYLE 9R2780
im 0.11 0.11
50cm 0.07 0.07
628 &K WRET HEAR |FETE 9h24H
1m 0.07 0.07
50cm 0.09 0.09
629 &K WRET #HERAR |/MNhoE 9A27H
1m 0.08 0.09
50cm 0.07 0.07
630 KR ET RELAR | KR 9A27H RIFOF (G442 R )
1im 0.07 0.08
50cm 0.10 0.1
631 E 4 kit | FIRPRLE 9h24H
1m 0.10 0.11
50cm 0.09 0.09
632 E 4 ;iR |[E0LAE 9R248
1m 0.09 0.09
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1

2]

EERRBERGHRE=—4) VAR #HAREFE13E)FER
($M3FE9A21A~10A128EH)

RF A SEEI et FAAR (BR5THRIE)
EERKEREXRE (RFHID)

BESS | ZHRERAEE (1 Sv/h)
s NEE
No. DilIES] X5 NEEL FJ 8 50cm (PR-4FBDFHIE) &%
m S0 %120
FEER RERR
50cm 0.07 0.08
633 Edi HEAR |hEIRTYN—H 9827H
1m 0.08 0.08
50cm 0.08 0.08
634 &K WRET #HXAR |HAXE 9H24H
1m 0.08 0.08
50cm 0.08 0.08
635 &K R ET #HEAR |HEAR 9A827H
1m 0.08 0.08
50cm 0.08 0.09
636 Edi HERAR |ZHEFERULE 9827H
1m 0.08 0.08
50cm 0.09 0.10
637 R #HELAR |FETRELE 9822H
1m 0.09 0.09
50cm 0.10 0.1
638 iih=t:1) #HEAR |V ERELE 9822H
im 0.10 0.11
50cm 0.09 0.10
639 = HET HEAR |V 2B RELE 9822H
1m 0.09 0.10
50cm 0.11 0.12
640 = HET #HEAR |VFHH3ERELE 9822H
im 0.10 0.11
50cm 0.10 0.12
641 = HET #HEAR |VH#4aERELE 9822H
im 0.10 0.11
50cm 0.10 0.1
642 R #HXAR |BEFUWSHRERAE 9h22H
im 0.09 0.11
50cm 0.10 0.1
643 R #HXAER |BEFLU2EHERAE 9R22H
1m 0.09 0.10
o 50cm 0.11 0.11
- BRFI=1—20 Eh &
644 = BT HERAR 5 98218
= L5 im 0.10 0.11
50cm 0.09 0.10
645 R #HEAR |RFERNNGHLLLAE 9A21H
1m 0.09 0.10
50cm 0.09 0.09
646 iih=t:1) HEAR |WEFRT Vb =0 9R24R8
1m 0.08 0.09
50cm 0.09 0.09
647 = BT HEAR |BoERTyI—o 9H824H
1m 0.08 0.09
50cm 0.09 0.10
648 R HEAR (W% BMILE 9H24H
1m 0.09 0.10
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EERBREMRSHEE=4U VT RAE EHAEEE13E)FER
($M3FE9A21A~10A128EH)

RF A SEEI et FAAR (BR5THRIE)
EERKEREXRE (RFHID)

BESS | ZHRERAEE (1 Sv/h)
s NE S
No. DilIES] X5 PNEEE4 ﬁ“ 8 50cm (PR-4FBDFHIE) =
fm 5E %12
FEER REMER
50cm 0.11 0.11
649 HEET bl /NI -8 D /N 9821
1m 0.10 0.11
50cm 0.09 0.09
650 i =t:) & EFRIL1E&HKE 9821H
1m 0.09 0.10
50cm 0.09 0.10
651 =BT B EFIL2EHKE 9821
1m 0.09 0.10
50cm 0.09 0.09
652 =87 #HELAR |RETRELE 9H21H
1m 0.09 0.09

X E12EMEHRIEE. FA2F10A28,M510A23BICKELMBERBRERFRE=FI AT @HHLAEEE12E) IITE T 2AEHR
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